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Class - 8

1. WEIGHT BASES ON THE OBJECTIVES

OBJECTIVE
SR.NO

MARKS

PERCENTAGE

1 | REMEMBERING

8.75

2 | UNDERSTANDING

38

47.50

3 | APPLYING

15

18.75

4 | CREATING

20

25

TOTAL

80

100

2 .WEIGHT BASES ON THE CONENT

SR.NO LEARNING AREA /SKILL

MARKS

PERCENTAGE

1 | LEXICAL ITEMS

8.75

2 | STRUCTURAL ITEMS

18

225

TEXTUAL QUESTION

READING COMPREHENSION AND

35

43.75

4 | WRITING

20

25

TOTAL

80

100

3 WEIGHT BASES ON THE TYPE OF QUESTION

SR.NO

TYPE OF QUESTION

NO. QUESTION

MARKS PER
QUESTION

TOTAL
MARKS

1 | OBJECTIVES TYPE

7

1

2 | VERY SHORT ANSWER TYPE

9

2

18

SHORT ANSWER TYPE

5

35

ESSAY TYPE

10

20

EXAM RELATED OTHER WORK

TOTAL

25

80
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Subject- English

Sample Question Paper
Duration: 2:30 hours Max.Marks — 80

PART- |
Objective Type Questions

Choose the correct option from the given options-

Q-1 We should wash our hands eating food. 1
(a) after (b) before (c) between (d) ‘none [ ]

Q-2 Sita can read English novel. is very intelligent. 1
(a) He (b) It (c)Her (d) She [ ]

Q-3 Neha wants a new dress. So, She . go to the market tomorrow. 1
(a) need (b) have (c) will (d) ought [ ]

Q-4 Which of the.underlined. letters in the following words has a different sound? 1
(a) Run (b) Put (c) Sun (d) Fun [ ]

Q-5 Which of the following things is not related to games? 1
(a) Racket (b) Knife (c) Bat (d) Hockey [ |

Q-6 Honesty is ........ best policy. 1
(a) the (b) a (c) an (d) none [ |

Q-7 The meaning of the word ‘mistake’ is - 1
(a) right (b) true (c) blunder (d) future [ ]



PART- Il

Very short Answer type Questions-

Q-: 8-11 - Complete the passage given below using the correct words from the bracket —4x2=8
( play, read, no bag day, students )

We have (8) activity on every Saturday in our school. All the (9)

are very excited and enjoy the whole day. They (10) many games . They also
(12) moral stories.

Q-12 Write the plural of the following words - 1+1=2

Ans (a) Leaf =

(b) Teacher =

Q-13 Write the missing letters in the following words- 1+1=2

Ans (a) B_aut_ful =

(b) E_pens_ve =

Q-14 We should avoid using mobile phones while driving we remain safe.
(unless/so that) 2
Q-15 Arrange the following'words in.proper order to make meaningful sentences- 1+1=2

(a) shook /Dr. Ashok/head/his.

(b) people / our /.educate/ we / must.

Q-16 Fillin the blanks with the help of words given in the bracket — 1+1=2
(Right, wear, zebra crossing, stand)

(a) We should always a helmet while riding a bike.
(b) We should always walk on the to cross the road.




PART- IlI
Short answer type question (A) (Ques. 17-18)
Read the passage carefully and answer the questions given below-

This story is from the Andaman and Nicobar archipelago. Ignesious was the manager of a
cooperative society in Katchall. His wife woke him up at 6 a.m. because she-felt an
earthquake. Ignesious carefully took his television set off its table and put it down on the
ground so that it would not fall and break. Then the family rushed out of the house.

When the tremors stopped, they saw the sea rising. In the chaos and confusion , two of his
children caught hold of the hands of their mother’s father and mother’s brother and rushed
in the opposite direction. He never saw them again. His wife was also'swept away. Only the
three other children who came with him were saved.

Q-17 (a) What did Ignesious do in Katchall? 2

Ans:

(b') Why did Ignesious wife wake him up at6 a.m. ? 1

Ans:

(c) Find the opposite of the following words from the given passage- 2
(i) Start.. -
(ii) Careless'-

Q-18(a) What happened after the tremors stopped ? 2

Ans:

(b) What did the family do after feeling an earthquake ? 2

Ans:




(c) What happened after Ignesious felt the earthquake ? 1

Ans

(B) (Ques. 19-20)
Read the passage carefully and answer the questions given below-

Before the giant waves slammed into the coast in India and Sri.Lanka, wild and domestic
animals seemed to know what was about to happen. They fled to safety. According to
eyewitness accounts, elephants screamed and ran for higher grounds; dogs refused to go
outdoors; flamingoes abandoned their low-lying breeding areas; and zoo animals rushed
into their shelters and could not be enticed to come back out.

Many people believe that animals possess a sixth sense and know when the earth is going
to shake. Some experts believe that animal’s.more acute hearing helps them to hear or feel
the earth’s vibration. They can sense an approaching disaster long before humans realise
what’s going on.

Q-19 (a) What happened to.the wild and domestic animals before the giant waves slammed

into the coast in India and Sri Lanka ? 2
Ans:
(b) Explain the eyewitness account of elephants , dogs, flamingoes and other zoo
animals ? 2
Ans:




(c) What do many people and some experts believe ? 1

Ans:
Q-20 (a) What can the animals sense ? 2
Ans:

(b) Which animals in the above passage fled to safety? 2
Ans:
(d) Identify and write one word of the following sentence from the above passage- 1

The planet on which we live-
E

Read the passage carefully and answer the questions given below-

Newspapers are our good friends. Newspapers bring us news and views from all corners
of the world. Newspapers also give us articles on all kinds of topics such as political,
social, economic, education, sports and business etc. Some newspapers are published
daily, they are called “Dailies”. We must cultivate the habit of reading newspaper to
know what is happening around the world. The one who dreams of being a journalist



should not spare a day without reading the newspapers. The students should read
newspaper daily. It will help them to shine in competitive exams.

Q-21 (a) What does newspapers bring to us ? 2
Ans:

(b ) What kind of articles are published in newspapers? 1
Ans:

(c) Identify and write one word of the following sentences from-the passage- 1+1=2

(i) One who goes to study in the School.

Ans:S

(ii) Newspapers published daily are called..

Ans:D

Q-22 (a) Why should we cultivate the habit of reading? 2
Ans:

(b ) How do newspapers help the students ? 2
Ans:

(c).Read the passage and write plural of the given word. 1
(i) Newspaper -

Q-23 Rearrange the following sentences in correct sequence - 5x1=5

(a) We played football match at 4 pm.
(b) We returned home in the evening at 5 pm.



(c) Last Sunday we went for a picnic.
(d) We ate food together in the afternoon at 2 pm
(e) We purchased Sweets and Namkeen on the way.

Ans

(a)
(b)
(c)
(d)
(e)

PART- IV
[ESSAY TYPE QUESTION]

Q-24 Imagine that you are Amit/Rekha from Jaipur..Write aletter to your friend inviting
him/her to join your sister’s marriage. You may use'the following points- 10

(i) When did you go there?
(ii) How did you enjoy the marriage?

Ans-

2024

My

Yours Sincerely,




OR

You are Ramesh/Aruna. Write an application to the Headmaster, requesting
him for admission to class IX, Govt. Senior Secondary School, Ajmer.

2024
Subject -
Respected Sir,
Yours
Q-25 Write a short paragraph on- 10

A Visit to a fair-(in 100 words)
You may use the following clues-

(reached, shops, Merry-go-round, circus, enjoyed, returned)




Ans-

OR

Write a story in about 70-80 words with the help of the given outline-

hungry. It of food. Finds a piece
. Stream the bridge reflection in the

piece of bone

butcher’s shop
greedy

water

piece falls sad.
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JEITS Y. (1-8)
Objective Type Questions (1-8)
IS 1 %x 0 FTAA T — 1
Value of %XO is
2
(a) = (b) O
(c) 2 (d) 7 (
YT 2 FHIBION 3x -1=14 ¥ a7 UeT BN — 1

Left hand side in Equation 3x -1=14is

(a) 3x (b) 14

(c)3x-1 (d) 3x +1 (
U 3 T & YD BT BT A9 Bl & — 1

The measure of each angle of a square is-

(a) 90° (b) 180

(c) 270" (d) 360° ()



Y. 4 9 BT QU I AT B —
The perfect square number of 9 is -
(a) 90 (b) 70
(c) 99 (d) 81 (

YT 5 OT 5 DI g9 G 8ifl —
Cube of a number 5is -

(a) 5 (b) 25 (c) 125 (d) 625 (
e 6 3ifhd oI — fAOFT T = o HEAT B

Marked price — Selling price is called

(a) seer (b) qeter (c) faspr @x (d) =arst

(a) Discount (b) Principal (c) Sales tax (d) Interest

U 7 THUQH 4ol A9 o—
Monomial algebraic expression is -
(a) 4x (b) 4x + 3y
(c) 3x + 2y (d)-3x+2y +5z

U¥: 8 0.000035 HEIT Bl AMD ®U BN =
The standard form of a number 0.000035 is -
(a) 3.5x1073 (b) 3.5x1072
(c) 3.5x107° (d) 3.5x10~7 (

JfCITERIHS U (9—12)

Very Short Answer type Questions (9-12)

-19 29 .

T 9 S X - = 14 IUF & I SYANT By g o &1 9 foriay |
-19 29

Write the name of property used under multiplication in ey X s =1

3<X /Ans




Y 10 THANY 5x+9= 5+ 3x Pl B PV | 2

Solve the equation 5x+9= 5+ 3x
<IN / Ans

g 11 Fr=foiRag d=mel § 9 URd & 99 @ SdhIs @ 3id S DIy — 2
Find the one’s digit/ Unit digit of the cube each of the following number.
(i)3331 (ii) 1027
3N / Ans(i)

(ii)

U 12 R b U9 15 U & e HIEN © U 45 U9 8Ll © Al Bl 3T Sid
BIY — 2

Bharti has 15 pens and Meenakshi has 45 pens..Find the ratio of the pens of both.
3N / Ans

TERIHD U (13—22)
Hug 3 (13—16)

Short Answer type Questions (13-22)
PART-A (13-16 )
U 13 fFAfaRad weFi o1 Ugar 9 /39 | 9 Iugdd WV Sifdd BTy 4x1 =4

(i) a™xb™ @1 A (ab)™ BRT (A / 39I)
(ii) 102* + eMeR &1 719 24 BRTT (T / 3RT)
(iii) (=5)"*x(=5) "2 @1 749 (=5) "¢ B (A / 3:9)
(iv) 25 « 276 ®raM 211 8RO (T / 3T<)



Mark (V) against True/False in the following statements:-

(i) Value of a™xb™ is (ab)™ (True/Flase)
(i)  Value of base of 10%* is 24 (True/Flase)
(iii)  Vvalueof (=5)™*x(=5) 2 is (=5)° (True/Flase)
(iv) Valueof2® - 276 s 211 (True/Flase)

T 14 R i @1 gfd siforg— Ax1 =4

Fill in the blanks-

(i) IS BT IAD DI oo BT ® (STHDIOT / RITDTOT)
The measure of each angle of rectangle is (right angle/ acute angle)

(i) ST TGS B faBmoit BT DI W AT H e 8T & | (afgamT / i)

The convex polygon have no portion of their diagonals in their

(Exterior part/ Interior part)

(i) TSt & T QT DI BT AFTHA ..ooo b BT B | (360° /540 °)
The sum of all interior angles of a pentagon is (360° /540 °)
(iv) TR o1 & a0l T S BT i P B | (ciqad / Fafgwrio)
The diagonals of a parallelogram each other. (perpendicular / Disect )
YT 15 WU 7 B Gre T He PHifcTe— 4x1 =4
Match Column.‘A’ to Column ‘B’
WYug ‘I’ ¥us q’
Column ‘A’ Column ‘B’
(a) (-4p) x (7r) (1) 12p - 24pq
(b)(2p) (80) (2) (4p) (5p)
(c) 3p(4-8q) (3) -28 pr
(d) 20p? (4) 16pq
T 16 3! YBR | Wl g 52 U<l (AR &I U TSl § 9 U@ U<l (A1) Iged wu
fpTer ST § O S dRi— 4x1 =4

One card is probability taken out from a well shuffled deck of 52 cards, then find -



(i) U BTl IGTME UTGT BT Dl UTIeha
Probability of getting one black king
3<X / Ans

(i) <1 9T BT YA YT B Dl YTyl
Probability of getting a card of red colour.
3N / Ans

(iii) SFDT YT BT DI TiAdhdl
Probability of getting an ace.
<IN / Ans

(iv) STl 7 BT ITH YT B DI GTfhar

Probability of getting red coloured queen.

3<IX / Ans
TERTHS U9 @YS § (17-22)
Short Answertype Questions
PART-B (17-22)
T 17 I oS Y & 9604 T ElYe wa SR — 4

Find the square root of a number 9604 by prime factorization method
3<IX / Ans

U 18\ fH ioR IgHS @ U I DIV BT IGUN 32 T | WHIOR ATHSA B G proii
B HY T B | 4
If the two adjacent angles of a parallelogram are in the ratio 3:2. Find the measures
of all the angles of the parallelogram.
3N / Ans




UET 19 12,000 . BT 2 9§ B fAU 10% e R A AR 161 UF TG ST B IR
S #IRIT Tafd = aiffe wafva 8ar 2 4
Find the difference between simple interest and compound interest on Rs. 12,000 for
2 years at the rate of 10% yearly, when the interest is compounded yearly.

3N/ Ans

UE: 20 U@ e a1 ugemen # 20 ugei @ fg 6 e @1 wata Wem B afk s9 aygEmen
# 10 9y iR 3 WK, @ IB o fpow o 9@ atw < 4
In a farmer’s cattle shed, for 20 animals food. is sufficient for 6 days. If 10 more
animals come to this cattle shed, thenfor how many days will this food be sufficient ?

3N / Ans

U 21 FHIDRT 3(t-3) =5(2t+1) DY BT PIOT 3R 30N SR P Sirg P | 242=4

Solve the equation 3(t-3) = 5(2t+1) and also check the answer.
3<IX / Ans




ge: 22 T wisr # =T aut & geeameil § arel o de AR @ 18 &) 39 Sftwsl @t
& U TE T UGRiT BIfT | 4
In any city, number of injuried in accedents in different years is shown in the table
below. Represent these datas on a pie- chart.

ag T
2018 2019 2020 2021
Year Total
Il &l e
. 20 12 18 22 72
No. of Injuried
33N/ Ans
aeaTds u%q (23—25)
Easy type Questions (23-25)
v 23 FrfeRas ol & PEEs B | 2424242 =8
Factorize thefollowing expressions-
(i) P? + 6P +8

(ii) 49x%2.—36
(iii) am? + bm?#4 bn? + an?
(iv) 15xy - 6x +5y —2
3T
OR
e @iva! & PrEs ST 3R fAdengar arT Ao | 2424242 =8

Factorize the following expressions and divide them as directed-
@  (y?+7y+10) +(y+5)
(i)  5pq (P> —q*)+2p (P +q
(iii) x(x+D(x+2)(x+3) ~x(x+1)
(iv) (5P?—=25P +20) + (P-1)




3N / Ans(i)

(ii)

(iii)

(iv)

Ue: 24 (i) T TIOR8 BT I 1800 B I & IfY s 1S &R dleE A

40 99, 30 ¥ ROl R&. 3 S8 9 BTG | 444 =8
The volume of‘a cuboidal box is 1800 cm. If its length and width is 40 cm and 30 cm
respectively, then find the height of the box.

(i) 14 T DS Tl TF IRMADR DTS DT ASE D AJQW AGHT 20 T,
3rsgT a1l U@ 99 9911 ST 8 | S BT A S Biforg |

A'rectangular paper of width 14 cm. is rolled along its width and a cylinder of radius 20
cm is made. Find the volume of the cylinder.

3reqaT

OR
(i) v agdona] o9 &1 &Fhd 54 T B | TuT GRE Nt | gE (vt w
g TV o9 8 #l. 71 4 #. ? A Rt & = sa AR 4+4=8

If the area of a quadrilateral shaped garden is 54 m? . If the length of perpendiculars

drawn on its diagonal from its opposite vertices are 8m and 4m, then find the length
of the diagonal.



(i) T& TFTHR TR B I 64 O HIlex & o 6 TR & G0 I &%

ST I |

If the volume of cubic room is 64 m3, then find the Total Surface area of the room.
3N/ Ans(i)

Ans(ii)

T 25 SUYF FI BT AT B gY I D gonr SR &nd o Frefafed sliiesi & wa
TP ATelg II5Y— 4+2+2 =8
Using suitable scales on the axes, draw a graph between side of a square and its area
from the following table.

T B ST (cm )

Side of Square (in cm) 2 3 4 > 6
2 -

ot (em” ) 4 9 16 25 36

Area(in cm?)




() @1 7% Raw arerT 87

Is this a linear graph?

(i) afE ==t 3 oo 7 T B A T BT gABA SI?

If the side of a square is 7 cm , then find its area.

3T

OR
IUY T BT JART BRI §Y I B YT SR uRe @ Frefoliaa sifest @ 7
TP ATelg TI50— 4+2+2=8

Using suitable scales on the axes, draw a graph between side of a square and its
perimeter from the following table.

it Y o (cm # )

Side of Square (in cm) 2 3 355 5 6
W o ﬁ) 8 12 14 20 24
Perimeter (in cm)

() Tar 9% Raw e &7

Is this a linear graph?

(i) afe &=t DHrgem 4 T B @ T F1 gRATT BIIM?

If the side of.a square is 4 cm, then find its perimeter

10
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Pl — 8 ( CLASS -8)

fawr — fas=
Subject- Science
HAT U39 U=
Sample Question Paper
@y — 230 gL quiis — 80
Duration 2:30 hours Max.Marks — 80
JEITS UeT (1<8)
Objective Type Questions (1-8)
U4 S99 & YU G5 H DIl favell 9 gl 8- 1
SIEIESICE (@) T
SIEIERRSESICSIES] GEERRIBIRSIESIES (

Which poisonous gas is.formed due to incomplete combustion of fuel ?

(a)Oxygen (b) Nitrogen
(c)Carbon dioxide (d) Carbon mono oxide [ ]
U2 BRI H DINENGT 597 B A o— 1
(@) TS (@) LGS
(%) Braet (=) ugret ()
Which liquid fuel is used at home ?
(a)LPG (b)CNG
(c)Coal (d)Petrol [ ]



Ue:3 Y T Pl b+l & (oY a7 JSITT I — 1

(31) BRI BT g: SYANT (@) PTTST BT GF: THT

(F) DTS BT Fod HRAT (@) Sua I ()
What suggestions would you give for stopping deforestation?

(a) Re- using paper (b) Re- cycling of paper

(c) Saving paper (d) All the above []

UeT:4 SAGRT BT AHD © — 1

SIRERE (@) Hrex

(W) &<t (%) = ()
The unit of frequency -

(a)Second (b) Meter

(c)Hertz (d)'Newton [ ]

U5 ARG &l § wf- YguUl BH PR 8g AT AU 7 Dl 1 § | o1 gea 31— 1
(@1) Tefifast= qerr Xf$Ar &l safy ygerdr &8 &=
(@) i 7=l &I WEH g oI
() are=il & B BT SUART HH HRAT
() Sogag el ()

Which of the following suggestions would you give your friend to reduce noise pollution
in-residential areas-

(a) Reduce the sound volume of television and radio
(b) Setting up industrial Machines away from the city
(c) Reduce the use of vehicle horns.

(d) All the above [



U6 7 H 4 Pl ucrRt [dg[d &I gardd © —

Which of the following substance is a good conductor of electricity-

(a)Rubber (b)Aluminium

(c)Wood (d)Plastic [ ]

U7 I IR, A1sfehd @ sived, ufzdl @ RA onfe W Hiffem o1 fazgfa. ofow, &
ST B—

(37) HIfFEH THHIR B B |
(@) I deRa T2 el 2|
(@) I8 WA &1 UfoRY B B |

() STgaet wh ()
Why is chromium electroplating done on gas burners, bicycle handlebars, wheel rims
etc--
(a) Chromium has a shiny‘appearance.
(b) It does not get corroded.
(c) It resists scratches
(d) All the above [ ]
yeg 3Ty (. 7 ¥ fhy |dor gRT S ¥ SARIT T8l &R Hadl © — 1
(@) Red el () Hell T TR
() dfa @1 a%g @) S Ve ()
Which of the following cannot be easily charged by friction ?
(a) Plastic scale (b) Inflated ballon
(c) Copper object (d) Woolen Sweater [ ]



AfATERTHS U (9—12)

Very Short Answer type Questions (9-12)

gt 9 7 % 9 RieS & RIS T e AeAl bl aRol H fRag | 2
Write the traditional and modern techniques/methods of Irrigation in
the following table-

Moat, Drip system, Dhekli, Sprinkler system, Rahat (lever system)

3N / Ans
IRARE AR BIE\RCOBSICET
Traditional techniques/methods | Modern techniques/methods
1. 1
2. 2
3. 3
4, 4
g3 10 Ufooifas Nwferl @& fAAiop® sy frddT STt Har? 2

What will you use in the manufacturing of antibiotic medicines?

<IN / Ans

T 11 Yol ULST T LGS Dl gR1 =4 forfay | 1+1=2
Write the full form of LPG and CNG ?

3<IX / Ans
(1) TAUIST /LPG:

(2) ¥IL.UA.ST/ CNG:




g 12 Il PIeeR Sd (WgHd) & STIRT T R o7 2

Why do players use spiked shoes ?

Q37N / Ans
g 13 el BIfdiy — 4x1 =4
@1 IS SRS 1 3T & ST B A 3T HIAT
(@) PrEF® @R 2 gRAT T4 JUR BRBC
(@) TWH BAA 3 Uy IR, MER, Uy faeY
() SARMT 41al Ud HbT

Match the following

(a )Chemical Fertilizer (1) Separation of grain from chaff.
(b) Carbonic Manure (2) Urea and super phosphate
(c) Kharif crop (3) Animal waste, cow dung, plant matter
(d) Threshing (4) Rice and corn
ge: 14 ASSIo RRIDHROT H§ IISSIIIH A1) & Heed bl FHSNSY | 4

Explain the importance of Rhizobium bacteria in nitrogen fixation ?

33N / Ans




g 15 =faRad dol & 9FH 9 /3 forfay —

4x1 =4
(@) Shraren So TR B aTet | ¥ | [ ]
(a) Fossil fuels are exhaustible resources . [ ]
() P g Ugrel IRAfAT e © | [ ]
(b) Coal and Petrol are unlimited resources. [ ]
(M) Prerar fafy=t gamit $1 fAsmr ) [ ]
(c) Coal tar is a mixture of different substances . [ ]

(&) YIS, HIF BT IUANT #REH, AR, dFl M g Jfebar S g1 [ ]

(d) Paraffin , wax are used in making ointment, candle, Vaseline etc . [ ]

U9: 16 S84 3R SaToll § BIs |l 3fdx forRay |

2x2 =4
Write any two differences between Combustion and Flame ?
Combustion Flame
1. 1
2. 2
g% 17 ¥ BT 3, e HIRTY — 2+2 =4

(@7) Y STe1 gRId
@) <Sta-fafderar

Explain the meaning of the following-
(a) Red Data Book
(b) Biodiversity

JTN(31) / Ans(a)




IR(4) / Ans(b)

v 18 Raa el @1 oftf Sfua ot g™1 #fsg — 4x1 =4
(fe@ved, BIggl, SRIYS, AvSUSTd, Horad, = )
@1) 3T o gRT S99 BT & |
(&) STUSTY] UG BT BT FATT oo PHEAILE |
(@) W, TR, U9 g1 SR g O RIY B T QA L, VT e Sig Ped o |
(@) HAT ERT TAT oo H BT &

Fill in the blanks using appropriate words-
[ binary fusion , Hydra, viviparous', oviparous fusion, fertilisation ]

1- Amoeba reproduces by
2- The fusion of an egg and sperm is called
3- Animals such:as-human beings, cows and dogs which give birth to young ones are called

animals.

4

Reproduction by budding takes place in

U 19, M4 SR 9T § T DI G §RT FASSY 2 4
Explain the relationship between pressure and force through a formula ?

<IN / Ans




e 20 JQTERVT Shx AASNSY foh aWor ey o A g &9 © 7 4
Explain by giving an example how friction is both enemy and friend ?

<IN / Ans

ge: 21 fAEfefad 1 @ Hifsy - 2+2=4
(a7) garerd dared
(@) faggd R &1 A S-G9
Explain the following-
(a) Conductor Material
(b).Chemical effect of electric current

IR(31)/ Ans(a)

IR(d) / Ans(b)




U 22 37U WAl Bl IAT RIS B B Ty T G ferfRay | 4

Write two suggestions for taking proper care of our eyes.

3N / Ans(1)

(2)

ge: 23 (31) Fedh GRel | HarRd a1 o foaRag | 4+2+2 =8
(@) 989 f=e 9 ofaR® e # I 1 &R forfReay |
() #a ®of &1 AMifed I 918U |

(a) Write two rules related to Road safety..
(b) Write any two difference between external fertilisation and internal fertilisation .

(c) Draw a labelled diagram of Human ear .

SIEIH
OR

(@1) ared gemd A e ardl &1 = @1 9@ney |
(@) s <T@ fsll v fafy &1 Afes auie i |
(3)-Eaf*r-memor @ fFEfa v @ fore o1 Surg faRag |

(a) What precautions should you keep in mind while driving?

(b) Describe any one method of asexual reproduction with the help of a labelled
diagram.

(c) Write two measures to control noise pollution .

JR(31) / Ans(a)




IR(4) / Ans(b)

¥R(4H) / Ans(c)

U 24 (1) I SMER W MY T FHI 27 Aol H Magddh UG Uareil &1 4+4 =8
T HEd ©7

@) g fHefl avg @1 Mg # uRad, & FhdT 27 IATER TR W DI |

SI=AdT
(@) A9 & IRR ¥ - Gl & M for@ar S Reafr &1 Amifea =
ERIEAY
(@) &g 904 Pl [IRI TR 9@ STeldl &7 I gRT 9y |

(a) What do you understand by a balanced diet? What is the importance of essential
nutrients in food?
(b) Force can change the shape of any object? Explain with the help of example.

OR
(a) Write the names of Endocrine glands of human body and draw a labeled diagram of
their position in human body.
(b) Liguid exerts pressure on the walls of a vessel? Explain with the help of a diagram.

10



JR(31) / Ans(a)

IR(4) / Ans(b)

UeT: 25 (3f) IS areld B fH d91hx AASY, I8 (b JbR Ha+l Pl qfed & 9491a o
9o H FER—Id BIdT 87 4+4 =8

(@) WrEad fhae 9eR B 8T &/ RF I e F9sisy |
I
(37) Sfad form IR e ¥ [ FHF 319 Udh SR ®I FRIdNd axd 2 |

@) WRIaad fhd Feq.22 Sfd s a9raR 9S8y | Wiaad @ gF1 A oy |

(a) (Draw a diagram of lightning conductor and explain how it helps in protecting
buildings from the effect of lightning?
(b) How many types of Reflection? Draw diagram and explain.

OR
(a) Draw a suitable diagram to explain that like charges repel each other.
(b) What is Reflection? Explain with suitable diagram. Write the two rules of Reflection.

JR(31) / Ans(a)

11



IR(d) / Ans(b)

12
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gy —  2:30 GUS quries — 80
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JEITS UeT (1<8)
Objective Type Questions.(1-8)
A fog T et F W G Riped g

Choose the correct option from the given
U3 gl Held il ‘DT 3%33 T—

(a1) ToReE H ARTST Afdd BY AP B forw
(@) 3ol g9 & AT B @ forg

() ITSTgd ITSTRIL B UhdT &H B & fory
() Suga |

The purpose of calling the Hurda Conference was-

(a).To'stop the Maratha power in Rajasthan.
(b) To.limit influence of English.

(c) To reduce the unity of Rajput Kings.
(d)/All the above.

U 2 Y AR SR 99—
(o) @ifS faferm dfew (@) arT RS
() dfs Sogron (]) dfe ®fT



The first Governor General was-
(a) Lord William Bentinck (b) Warren Hastings
(c) Lord Dalhousie (d) Lord Canning
ue: 3 IR quer &1 Hdy 8-
(1) STIRUSY ¥ (@) AU
(|) o (]) sIRGvS

Birsa Munda is related to -

(a)Uttar Pradesh (b) Madhya Pradesh
(c)Rajasthan (d) Jharkhand
U 4 IRUTTRT BT W& BRI o—
(31) faarel &1 e (@) ~fre e
() Hifeled SIABRI BT FReToT (]) SyYacr |+l
The main function fo the judiciary.is -
(a)Setting the disputes (b) Judicial review
(c)Protection of fundamen (d)All the above
U 5 qlh 9T H AR Sot @ gRaar BT 5
(31) Ul (@) g
(&) Tyt (@) gega=i
The head of the rulling party in the Lok Sabha-
(a)President (b)Prime Minister
(c)Governor (d)Chief Minister
U 6 AANHRUNT HARH & ISR T—
(31) AR ot (@) Taq ot
q) SR ol (]) Sudaa



Examples of renewable resources are-

(a)Solar energy (b) Wind energy
(c)Tidal energy (d) All the above [ ]
ge: 7 ffeRad # 9 a9 ¥ dwmem 78 8- (1)
() gt (@) ws®
) T () Wl [ ]
Which of the following is not a man made resource?
(a)Bridge (b) Road
(c) Machine (d) Natural gas [ ]
U 8 VIR TRBR 1 IMfGH SIS FHE B Gl H ISR ] {5 SToiiicr bl 2Mmfie
fosar 2 2 (1)
(37) *Fret (@) o
(%) wifern () weRar [ ]

Which tribe of Rajasthan has been included in the list of primitive tribal groups by the
Government of India?

(a)Bhil (b) Meena

(c) Garacia (d) Sahariya [ ]

QoS — §  JfcreTeRiRIID U

Very Short Answer type Questions

g 9 TleTRae &1 gHeT dIfoTg— %ox4=2
(1), 7 =DC A gR<M |gerd BT T rafdg
(@) ¥ di® B &l =fdd & RaeiTh gRIERT &1 IR
(3) gt C U1 AN®T RT SKIATA &I ST dTell 95
(4) HeTRITT D g ¥ g 9 fRRTRY & SIredl o |



Match the following

(1)Musket (A) A jurist from the Muslim community

(2)Match Lock (B) A charge of misconduct against a person.

(3)Mufti (C) The gun used by Pedal

(4)Impeachment (D) Gun in which spark was given by gunpowder
ged: 10 B AT AT § IR &— %x4=2

[ ]
[
(3) @freT el arel & @1fd ° 99 8 & | [ ]

(4) ENfiT® &7 ISR & AR Tl USH B & | [ ]
Answer in Yes or No —

People are the biggest resource of a nation. [
People generally prefer extreme climate. [
[
[

_—

1

2

3. Areas with mineral deposits are more densely populated.
4. Industrial areas do not provide employment opportunities.

ge: 11 <9 a9 B 7 MU g 2 @)
What do you understand by minimum wage Act?

3<IX / Ans

U 12 Afect] HITRITBROT DI TATIDBIT P bl ol BRI IRV | 1+1=2

3 (1)

(2)

Write any two reasons for the need of women empowerment.

Ans (1)

(2)




T 13 | 1857 H #RG BIAAl & FAUIRAl Bl Y HRIA IR FI VARTST off ? 2

Why did the Sepoys of Meerut Cantt in year 1857 had objection on new Cartridges?

3N / Ans

;14 HITaTST Bl ISR hI ATIReX hal Sidl & | Fl ? 2
“ Bhilwara is called the Manchester of Rajasthan.” Why?

3<X / Ans

U 15 S¥C SMUSAT HHAT ARAN fHAMI TR A BI WA B, o, q61d STerd o, q1? HROT
WL PV | (4)

Why did the East India Company put pressure on.Indian farmers to cultivate indigo?
Explain the reason.

<IN / Ans

g 16 faiE B & geRI &1 9ol @ | (4)
Describe the types of subsistence farming

<IN / Ans

U 17 TN ek B 31 WK PR gY Pedl ATl STRT I Bl BT | (4)
Explain the term ‘Industry’ and classify of Industries on the basis of raw materials.

<IN/ Ans




T 18 (i) BT HISTY BT 3T 1850 B DB H U TN YRIR H YT gY, 39 |HI
ITRBR ERT FAIAT IS TR DTS & I < | (2)

Imagine that you were born in a poor family in 1850 decade, at that time Give two
opinions on school run under government.

¥Y (1)

(2)

(i) gafAe emermell # UdW oF & qIQ AN HeEmRll & IeIgT H MM dwd fJernery
IS od & F®f ? T HRT ey ()

Half of the children taking admission in primary schoolsleave their schools for further

studies, why? Give two reasons.

IR (1)
(2)
;19 ferferaa arferr qof @ | 1x4=4
%.9. R PR P IR
1 DI JTSTIOD Gl T AT

q g7

2 3 & H [Hafiere gl

3 T PIFAT SIS T
fauer 7 &7

4 3RTel T D BiII?

Complete the following table.

S.N. State Govt. Central Govt.
1 Which political parties are
currently in power?
2 The elected representative of
your area
3 Which political party is
currently in opposition?
4 When will the next election
be held. ?







e 20 (i) U aT Aiferd @R Iargd e dig Afad 9+l UfseT Ud 9al IReb a8
R GR 3 & fog TRt o | (2)

Mention two fundamental rights which a person can use to emphasize his dignity
and equitable treatment.

¥Y (1)

(2)
(if) T =8l &1 &l 1 guid SIfTY RTd BRI ¥qerd &1 usar YaRkid 8l | (2)

Discribe any two areas that show the identity of the marginalized community?

S<}/Ans

T 21 JISIRAE & AFS H qRIisy— 4x1=4
(@) TSR (@) AR @) e (2) S
Show in the map of Rajasthan
(a) Barmer (b)Bharatpur (c) Pali (d) Banswara

S<¥/Ans



e 22 9 T U A g H W S g B SR QI | 4+4=8

Attempt any two questions out of three question given below

(i) 1857 DY HIfT B ABAAT Yd RABIAT TR 30 faaR ford |

Write down your opinion on the success and failure of the 1857 revolution.

3<IY/Ans

(i) "RA @ Moy H I AT il & ArTe” wR AR | fod |

Write in detail about the contribution of the father.of Nation Mahatma Gandhi in
the freedom of India.

3I¥/Ans

(iii) JfeTc TINE R fdwaR & forg |
Write'in detail.about the Rowlatt Satyagraha.

S<¥/Ans




e 23 fferfad or femft forfay | 4+4=8
Write your Comments on the following
(i) Slg 7veet Biosphere

(i) yRa=  Ecosystem

IR/ Ans(i)
(ii)
3R]
OR
YRIAT FIL 22 T8 I BIAT 57 YRIAT Ab & IURI dargy | (2+3+3=8)

What.isa landslide? Why does it occurs? Write the measures to prevent landslide?

S<¥/Ans

10



;24 AU | MY T IHSI © 2 AIAUT BT MMATADAT B PRUT W By | 2+6=8

What do you mean by constitution? Explain the reasons for the need of the
constitution?

ST

OR
g fARURTAT BT ITAUROT T 31 Ud adH H s Uifiear IR U faaR ford |

Write your views on the meaning of the concept of secularism and its relevance in the

present time.

3I<¥/Ans

ge: 25 U U Ay § A el T gz & SR IR | 4+4=8
Attemptany two questions from the given three questions.
(i) TSI & He@yul M g gfde Ried Il BT quiF o |

Describe the important geographical and natural tourist places of Rajasthan.

(i) o grem FTHl &1 AR | Seord o |
Mention road safety rules in details.
(iii) wrgeTie waedr # faenefl - e v dad g ?

What roles can the students play in the Community cleanliness ?

11



SN/ Ans( )

SN/ Ans( )

12
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